
qm=;= vr{ ;+s]t vr{ lzif{s jflif{s ah]6 -?=xhf/df_

1 26322 :yflgo lgsfo ;;t{ k"FhLut cg'bfg 71200

2 29311 kmlg{r/ tyf lkmSr;{ 1650

3 29411 ;jf/L ;fwg 10000

4 29511 d]zLg/L tyf cf}hf/ 1200

5 29611 ;fj{hlgs lgdf{0f 22800

6 29621 k"+lhut ;'wf/ vr{ -;f=lg=_ 26000

7 29711 k"+lhut cg';Gwfg tyf k/fdz{ 13750

s"n k"FhLut ah]6 M 146600

cf=a=@)&$÷&% sf] nfuL k"FhLut tkm{ :jLs[t ah]6















? xhf/df

qm=;= v=l;=g+= v=lz jflif{s ah]6 ;+zf]lwt jh]6

1 29311 kmlg{r/ tyf lkmSr;{ 850 1650
2 29511 d]l;g/L cf}hf/ 800 1000
3 29410 ;jf/L ;fwg 10000 10000
4 29711 k'+hLut cg';Gwfg k/fdz{ 15000 15000
5 29611 ;fj{hlgs lgdf{0f 99200 99200
6 29621 k'+hLut ;'wf/ vr{ ;f=gL 25650 25650
7 26312 :yflgo lgsfo ;;t{ rfn' cg'bfg 6300 6300
8 26413 cGo ;+:yfnfO{ cg'bfg ;;t{ 1525 1525

9 26411
;/sf/L lgsfo P+j ;ldlt af]8{x?nfO{ ;;t{ rfn' cg'bfg       

-lghL >f]t lzIfs tna_ 14500 14500
10 26322 :yflgo lgsfo ;;t{ k'+hLut cg'bfg 77000 77000
11 27210 5fqj[lQ 300 300
12 27211 5fqj[lQ 100 100

13 26612
;;t{ cg'bfg –ljifout sfof{nox?                           

-s[lif÷:jf:Yo÷lzIff 122162 122162
14 rfn' vr{ -;fwf/0f hDdf_ 57183 52473

15
k'+hLut tkm{sf] sfo{qmddf ;fwf/0f tkm{sf] s'n ah]6 ;dflxt 

u/LPsf] hDdf ?, 7030 7030
hDdf /sd M 437600 433890

k'hL+ut tyf cGo vr{ tkm{sf] vr{sf] afF8kmf8 tyf vr{ lzif{ssf] jlu{s/0f 


